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BEIMEZRET 2 HDTIEHY £ A, 098-877-5346

S BEEAS | BT = HEEE | Ef = EEEE | Ear
Eh 1390 |M/kg| |ABwS 245 |M/kg| |EBEI—S— ML) 20 |F/kg
£2EH 1370 |M/kg| |ABYIE 235 |M/kg| |EBEI—S— (W) 20 |F/kg
5 (4 - LssR) 1340 |M/kg| [BHwS 220 |A/kg| [GHPO—S— (9M) 20  |M/kg
A5 (S - W) 1320 |M/kg| |FH-10 200 |F/kg| |8 (R 38 |M/kg
T4 (F4R - 3A8H) 1300 |MA/kg| | IRHS 140 |M/kg| |8 (#&5H) 20  [M/kg
WER (SAFES0%) 1060 |M/kg| | P S#& 235 |MA/kg| |RF—ILE 1 F3/kg
WS ($1E70%) 920 |M/kg| |FILZRAIL 245 |M/kg| |3t 1 F3/kg
wEMR (B1%60%) 780 M/kg| | A VHET7ILZRAIL 450,900 H/A& | |#%FER 3050 |F3/{@
J\—RZ 570 |M/kg| |7IL=H 15 |A/kg| |J> (EH/ERELD) 60,730 |F/kg
wER () 340-380 |M/kg| |(BS>T—4— 540 |M/kg| |J> (RFMREN) 20 |F/kg
SBL (IER) 1180 |M/kg| |#%S5>T—9— 520 |M/kg| |ER 20  |M/kg
SBL (REEg) 1060 |M/kg| |7IL=E (11F0OML) 205 |A/kg| [FRO My IO AK 1 F3/kg
s 1040 |M/kg| | 7IL=E (10FOMUTF) 195  |M/kg| |/ —KtVT> 1 F3/kg
TS 970 |M/kg| | LRF> 155  |M/kg | |Skidmeae 140  |M/kg
LR 830 |M/kg| [HZRF> 110 |M/kg| |88/\w>U—(E) 27 |M/kg
THE# 710 |MA/kg| |FRF> 100 |M/kg| |8/\wFU—(t12) 3 F3/kg
O£ JULY) 830 |M/kg| [$A(2ED) 50 |M/kg| |8A\wFU—(TH—2) 3 F3/kg
HRS > T —5F—(RIEE) 670 A/kg| | E—45— 50 M/kg | |88y > —(FEZR) 3 M/kg
WS T — 45— (KREEHD) 600 |M/kg| |BE—5— 30 |M/kg
BARSST—45—A 210  |MA/kg| |[HRA—H— 90 |M/kg
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